Types of Polynomials
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Adding and Subtracting Polynomials
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What you will learn about:

POLYHOMIALS
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EXAMPLE 6.1

Determine whathar sach polynomial s a monomial, binomial, trinomial, or other polynoméal
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Find the degree of the following polynomials.
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Adding and Subtracting
Polynomials

Preform the indicated operatation:

12¢* + 9¢* —15¢* + 8¢*
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(5y° =3y +15)+ (3y* —4y —11)
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(2x% — 3xy — 2y%) + (5x% — 3xy)
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(a®+ b*) — (a® + 5ab — 6b%)
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(a® — a®b) — (ab® + b*) + (a’b + ab®)
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Evaluate 5x% — 8x + 4 when

x=4 X=-2 x=0
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The polynomial h = —16t? + 250 gives the heig\vt of a ball t seconds
after it is dropped from a 250 foot tall building. Find the height after 2
seconds. After 4 seconds.

h=-le(2) 250 h=-le(4) r2sd
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The polynomial 6x* + 15xy gives the cost, in dollars, of producing a
rectangular container whose top and bottom are squares with sides x

feet and sides of height y feet. Find the cost of producing a box that
is 4 feet wide and six feet tall.
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Simplify Expressions with

Exponents

Simplify Expressions Using the
Product Property of Multiplying

Exponents
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Simplify Expressions Using the
Power Property of Exponents
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Simplify:

What you will learn about:
Multiplication Properties of Exponents
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Simplifying Expressions Using
the Product to a Power
Property

(ab)™ = a™ - b™

Simplify: (—9d)?
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What you will learn about:
Multiplication of Polynomials

Multiply:
4(x +3) —2x(x — 4) (3t2 —9)¢
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(b+3)(2b*—5b+8)
S~ S

2x—3)(4x* —6x+7)

(3t + 1)(2t% — 4t — 5)
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What you will learn about:
Multiplication of Polynomials
Special Products

Binomial Squared
(a+b)? = a? + 2ab + b?

Multiply:

(a—b)? =a? —2ab + b* =
«Ps)? (y —3)? (4% +6)?
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Conjugate Pair

Multiply:
(a+b),(a—5)
(x —8)(x+8) (y+3)(y—3)
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